Worksheet 2
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1.     r and s are tangents.

        m = ?
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2.     m and n are tangents.

        x = ?
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3.     d is a tangent.

        y = ?
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4.     h is a tangent to both circles.

        z = ?
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[image: image5.emf]5.     Quadrilateral ABCD is

        circumscribed about circle Q.

        RS = 14               TO = 4

        RU = 11               UM = 5

        What is the perimeter of RSTU?
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[image: image6.emf]6.     Quadrilateral ABCD is

        circumscribed about circle P.

        CY = 13               AD = 12

        What is the perimeter of ABCD?
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